




Syllogism
(Question Practice)



Statement:

Some Pans are plates.

No plate is a Jug.

Conclusion:

I. Some Jugs are Pans.

II. All Jugs being Pans is a possibility.

a. Only I follows

b. Only II follows

c. Either I or II follows

d. Neither I nor II follows

e. Both I and II follow



Statement:

Some schools are houses.

Some colleges are schools.

Conclusion:

I. Some colleges are houses.

II. Some colleges are not houses.

a. Only I follows

b. Only II follows

c. Either I or II follows

d. Neither I nor II follows

e. Both I and II follow



Statement:

Some Pans are plates.

No plate is a Jug.

Conclusion:

I. Some Jugs are Pans.

II. All Jugs being Pans is a possibility.

a. Only I follows

b. Only II follows

c. Either I or II follows

d. Neither I nor II follows

e. Both I and II follow



Statement:

Some Pans are plates.

No plate is a Jug.

Conclusion:

I. Some Jugs are Pans.

II. All Jugs being Pans is a possibility.

a. Only I follows

b. Only II follows

c. Either I or II follows

d. Neither I nor II follows

e. Both I and II follow



Statement:

Some notes are coins.

No coin is a card.

Conclusion:

I. All cards can be notes.

II. Some notes are neither coins nor 

cards.

a. Only I follows

b. Only II follows

c. Either I or II follows

d. Neither I nor II follows

e. Both I and II follow



Statement:

Only a few Scripts are Words.

No letter is a Word.

Conclusion:

I. A few Letters are Scripts.

II. All Scripts can be Words is a 

possibility.

a. Only I follows

b. Only II follows

c. Either I or II follows

d. Neither I nor II follows

e. Both I and II follow



Statement:

All pictures are Bright.

Only a few Pictures are Dark.

Conclusion:

I. Some Bright are Dark.

II. Some Pictures are not Dark.

a. Only I follows

b. Only II follows

c. Either I or II follows

d. Neither I nor II follows

e. Both I and II follow



Statement:

Only a few Gold are Green.

Some Gold are not Grey.

Conclusion:

I. All Gold being Grey is a possibility.

II. At least some Grey are Green.

a. Only I follows

b. Only II follows

c. Either I or II follows

d. Neither I nor II follows

e. Both I and II follow



Statement:

Each bed is sheet.

Every pillow are sheet.

No sheet is blanket.

Conclusion:

I. No bed is blanket.

II. Some bed are pillow.

a. Only I follows

b. Only II follows

c. Either I or II follows

d. Neither I nor II follows

e. Both I and II follow



Statement:

Only a few curd are milk.

No milk is cheese.

Some ghee are cheese.

Conclusion:

I. Some curd are ghee.

II. Some curd are not cheese.

a. Only I follows

b. Only II follows

c. Either I or II follows

d. Neither I nor II follows

e. Both I and II follow



Statement:

Only a few glass are mirror.

Some mirror are diamond.

No diamond is carbon.

Conclusion:

I. Some mirror are not carbon.

II. At least some glass are carbon.

a. Only I follows

b. Only II follows

c. Either I or II follows

d. Neither I nor II follows

e. Both I and II follow



Statement:

Only a few Genes are DNA

Only DNA are RNA

No RNA is Protein

Conclusion:

I. No Gene is Protein

II. Some proteins are Genes

III. Some Genes are not DNA

a) Only II follows

b) Either I or II and III follows

c) Both I and II follows

d) Both II and III follows

e) None follows



Statement:

Some A are B

Only a few B are C

No A is D

Conclusion:

I. At least some A are C

II. All B are C is a possibility

III. No D is C

a) Only II follows

b) Either I or II and III follows

c) Both I and II follows

d) Both II and III follows

e) None follows



Statement:

All Planets are Stars

Some Stars are Earth

Only a few Suns are Planets

Conclusion:

I. All Sun being Star is a possibility

II. Some Stars are Sun

III. Some Planets are Earth

a) Only II follows

b) Either I or II and III follows

c) Both I and II follows

d) Both II and III follows

e) None follows



Statement:

All Mathematics are Economics

Only a few Mathematics are Chemistry

No Chemistry is Physics

Conclusion:

I. All Chemistry are Economics

II. Some Economics are Chemistry

III. All Mathematics being Physics is a 

possibility

a) Only II follows

b) Either I or II and III follows

c) Both I and II follows

d) Both II and III follows

e) None follows



Statement:

Some twos are threes

No four is ten

Only a few tens are threes

Conclusion:

I. No three is four

II. Some twos are four is a possibility

III. Some threes are twos

a) Only II follows

b) Either I or II and III follows

c) Both I and II follows

d) Both II and III follows

e) None follows



Follow, Does Not Follow, Definitely 

Does not follow



Statements : 

No society is standard. 

No standard is modern. 

No modern is official. 

Conclusions : 

I. Some societies being modern is a 

possibility. 

II. Some societies can never be official.

A. if only conclusion I follows. 

B. if only conclusion II follows. 

C. if either I or II follows.

D. if neither I nor II follows. 

E. if both conclusions I and II follow.



Statements : 

All regular are successful. 

Some students are regular. 

All exercises are students. 

Conclusions : 

I. Some successful being exercises is a 

possibility.

II. Some students can never be exercises.

A. if only conclusion I follows. 

B. if only conclusion II follows. 

C. if either I or II follows. 

D. if neither I nor II follows. 

E. if both conclusions I and II follow.



Statements : 

Some married are educated. 

Some educated are men. 

All men are qualified. 

Conclusions : 

I. Some educated if they are men are 

qualified. 

II. Some educated if they are qualified are 

men.

A. if only conclusion I follows. 

B. if only conclusion II follows. 

C. if either I or II follows. 

D. if neither I nor II follows. 

E. if both conclusions I and II follow.



Statements : 

All shares are debentures. 

No debenture is an equity. 

Many equities are maturities.

Conclusions : 

I. No debenture can be a maturity. 

II. All debentures that are shares may be 

equities. 

A. if only conclusion I follows. 

B. if only conclusion II follows. 

C. if either I or II follows. 

D. if neither I nor II follows. 

E. if both conclusions I and II follow.



Statements : 

Some doctors are rich. 

All rich who are doctors are honest. 

Conclusions : 

I. Many doctors are honest. 

II. Some honest are possibly rich.

A. if only conclusion I follows. 

B. if only conclusion II follows. 

C. if either I or II follows. 

D. if neither I nor II follows. 

E. if both conclusions I and II follow.



Statements : 

No ring is a wing. 

Some wings are kings. 

All kings are brave. 

Conclusions : 

I. Some brave may be ring. 

II. Kings which are not wings are rings.

A. if only conclusion I follows. 

B. if only conclusion II follows. 

C. if either I or II follows. 

D. if neither I nor II follows. 

E. if both conclusions I and II follow. 



Statements : 

All queens are beautiful. 

Some princesses are queens.

No beautiful is royal. 

Conclusions : 

I. All beautiful which are princesses will 

necessarily be queens. 

II. All queens are royal

A. if only conclusion I follows. 

B. if only conclusion II follows. 

C. if either I or II follows. 

D. if neither I nor II follows. 

E. if both conclusions I and II follow. 



Statements : 

All cups are stars 

Some stars are jugs 

No jug is glass 

Some glasses are tables 

Conclusions : 

I) Some tables are stars 

II) Some glass are cups 

III) No table is stars 

IV) Some jugs are cups 

A. Only I and II not follows

B. Only I, II and III not follows 

C. Only either I or III not follows 

D. Only either I or II not follows 

E. None of these



Statements : 

Some keys are letters. 

All letters are locks. 

All locks are numbers. 

No number is a coin. 

Conclusions : 

I. Some keys are numbers. 

II. All letters are numbers. 

III. Some locks are keys. 

IV. No coin is a letter. 

A. Only I and II not follow

B. Only I, II and III not follow 

C. Only II and III not follow 

D. Only II, III and IV not follow 

E. All follows



Statements : 

All cells are bins.

All bins are petals. 

No petal is root. 

All roots are leafs. 

Conclusions : 

I. No cell is bin. 

II. No bins are root. 

III. All cells are petals. 

IV. All leafs are roots.

A. Only I and II not follow 

B. Only I and IV not follow 

C. Only I, II and III not follow 

D. All not follows 

E. None of these



Statements : 

All stones are pearls. 

Some pearls are shells. 

Some shells are boxes

No box is container. 

Conclusions : 

I. Some stones are shells. 

II. No pearl is container. 

III. No shell is container. 

IV. Some boxes are stone is a possibility. 

A. Only II not follows 

B. Only II and III not follow 

C. Only I, II and III not follows

D. Only III follows 

E. All not follows



Statements : 

Some pens are papers 

No paper is a pencil 

All copies are pencils 

All pencils are inks 

Conclusions : 

I. Some pens are not copies 

II. All pencils being ink is not a possibility 

III. All pens are pencils is not a possibility

IV. Some copies are not papers. 

A. Only I and II follows 

B. Only I and IV follows 

C. Only I, III and IV follows

D. Only I, II and IV follows 

E. All follows



Statements : 

All desks are tables 

No desk is a chair 

All notes are chairs 

Some chairs are benches 

Conclusions : 

I. Some notes are benches 

II. Some table can never be chairs 

III. Some notes are not desks 

IV. All bench being desk is not a possibility 

A. Only I, II and III follows 

B. Only II, III and IV follows 

C. Only I, II and III follows

D. None follows 

E. All follows



Statements : 

Some resources are powerful. 

All resources are significant. 

All significant are organized. 

Conclusions : 

I. Some organized are significant is not a 

possibility. 

II. No organized being powerful is not a possibility.

A. if only conclusion I follows. 

B. if only conclusion II follows.

C. if either I or II follows.

D. if neither I nor II follows. 

E. if both conclusions I and II follow.



Statements : 

All regular are successful. 

Some students are regular. 

All exercises are students. 

Conclusions : 

I. All exercises being successful is not a possibility. 

II. At least some regular are students is not a 

possibility.

A. if only conclusion I follows. 

B. if only conclusion II follows. 

C. if either I or II follows. 

D. if neither I nor II follows. 

E. if both conclusions I and II follow.



Statements : 

All attitude are bold. 

All bold are critical. 

Some critical are delightful. 

All delightful are effective. 

Conclusions : 

I. All attitude being critical is not a possibility. 

II. Some critical are effective is a possibility.

A. if only conclusion I follows. 

B. if only conclusion II follows. 

C. if either I or II follows.

D. if neither I nor II follows. 

E. if both conclusions I and II follow.



Statement:

Some twos are threes

No four is ten

Only a few tens are threes

Conclusion:

I. No three is four

II. Some twos are four is a possibility

III. Some threes are twos

a) Only II follows

b) Either I or II and III follows

c) Both I and II follows

d) Both II and III follows

e) None follows






